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the two languages according to their convenience.

The Question Booklet contains 100 questions. The examinee should verify that the requisite number of
questions are printed in the Question Booklet, otherwise he/she should ask for another Question
Booklet.

All questions are compulsory.

ol

All questions carry equal marks.

The cover page indicates the number of pages in the Question Booklet. The examinee should verify
that the requisite number of pages are attached in the Question Booklet, otherwise he/she should ask
for another Question Booklet.

Read carefully the instructions given on the Answer Sheet (OMR) supplied and indicate your answers
accordingly.

Kindly make necessary entries on the Answer Sheet (OMR) at the places indicated and nowhere else.
Examinee should do all rough work in the space meant for rough work on pages given at the end of the
Question Booklet and nowhere else, not even on the Answer Sheet (OMR).

If there iy any sort of mistake either of printing or of factual nature in question, then out of the
Hindi and English versions of the question, the Hindi version will be treated as standard.
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1. UER RIS ¥ e WrR e @R ued 9t (6. 2011 R TENMAT % EOR, Hed Yo % fhw

T gaTeT Y el S R oo 7 oyl srenfoat @ fmgae waifies
@A) @ 37
®) T (A) inEnEnE
© fr® (B) wew
O R © R
(D) SR
Te PR e R )
&) s (i) 1. g;ﬁmﬁ?%«ﬁmﬂ@ﬁmmﬁw
(B) e ardl & @ 15 '
(©) fwe gt ® ®) 14
(D) SIEET ToR © 12
R B T e e e 2 | O
(A) 12,500 freit 8,  aaaT ST G AT ?
(B) 15,200 ferrdt (A) =R 1984
(C) 14,700 forft (B) TR 1984
(D) 15,700 et (C) Temr=w 1984
(D) STl 1984

Frefafae & @ w98 o, 1) g & uiwed
&7 & I I § ?

%Hﬁ%mmﬁsﬁmﬁnamﬁm 18 a4

9,

(A) SWEHCEHIY HIEER 99 =% Tt 2
(B) IwTREFH 21T goiamt 5 (A) 683
(C) IR ANg-TEer 9 B) 613
(D) T FUHRTHE 9 © 634

(D) 75
neq ¥+ TR 83 § wan A wEehey
H T Ut R § 2 10. 7= wewr § smyfres wiEmer e afed gon ?
(A) e A (A) =R 1958
(B) Hagst Avit (B) “&=R 1957
(C) BT Foft (C) w==R 1956
D) g%a’@'ugq;[ 93K (D) &= 1959
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The local winds blowing from the Sahara
Desert to Mediterranean Sea are called :

(A) Bora

(B) Loo

(C) Chinook
(D) Sirocco

The Dead Sea exists in the :
(A) gorge

(B) intermountain valley
(©) rift valley

(D) intermountain plateau

What is the approximate length of India’s
land frontier ?

(A) 12,500km

(B) 15,200 km

(C) 14,700 km

(D) 15,700 km

Which of the following forests are found
along the Western side of the Western
Ghats ?

(A)
(B)
()
(D)

Tropical evergreen forests
Tropical moist deciduous forests
Tropical semi-evergreen forests
Dry tropical forests

In which area of Madhya Pradesh are the
oldest rocks of Archean system found ?

(A) Narmada Valley

(B) Satpura Range

(C) Maikal Range

(D) Bundelkhand Plateau

8.

10.

(3-B)

As per 2011 census, which district of
Madhya Pradesh has the highest sex ratio
among Scheduled Tribes ?

(A) Balaghat
(B) Mandla
(C) Dindori
(D) Alirajpur

How many members of the Rajya Sabha
are nominated by the President ?

A 15
By 14
©) 12
D 13

When were the Eighth General Elections
held ?

(A) November, 1984
(B} October, 1984
(C) December, 1984
(D) February, 1984

In which Constitutional Amendment is
voter age mentioned as 18 years ?

(A) 6sth
(B) 61st
(C) e3rd
(D) 173rd

When was the Modern Secretariat of
Madhya Pradesh formed ?

{A) November, 1958
(B) November, 1957
(C) November, 1956
(D) November, 1959
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12.

13.

14.

15.
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Foren s # g 7 @EeH S T ® ?
(A) Tawm wemred Alsd

(B) WieHias AR

(C) &= sfierd

(D) foren Fatew sl

o1 ffF. va afify feed R 2 2
(A) wadm whfet

(B) 9T wiufeat

(C) frate aftfet

(D) =t U afifat

7543 dfeam dwew afutam, 1993 6 fw
g o um el W e R e 2

(A) odf
(B) 10t
(©) 11
(D) 7

Pefafes § |4 ey oM <o # wRa °
Frmrae g e fiwee <=t 6t wff 2

(A) 2001-2011
(B) 1991 - 2001
(C) 1981 -1991
(D) 1961 -1971

Frafafgs ¥ 3 ST SowuE e =W
@ a7

(A) HOR SNIE
(B) YWEEHvs ST
(C) <&l STeudra

(D) HiTTITT AN

16.

17.

18.

19.

20.

(4-B)

forereft arfrffemr 2003 % sgER, SusiERT i
fasrett @figr # sEwEHagER e @ #
ST TR ?

(A) IR

(B) di=

C =

(D) Hr

TREdl yeadfa A # ot I s
Tererre 7 Tl & 51 Torm T

(A) 41,110 MW

(B) 46,825 MW

(C) 50,757 MW

(D) 61,537 MW

e Yo S w92 Y 2019 — 20 F uIC Wl
IER, o W, G TSY W, I9K
(adm Hwat 91) <k febam widera T T v ?
(A) 3:34%

(B) 4-34%

(C) 5-34%

(D) 6-34%

sl freew S g v= win % e
g ?

(A) EagL

(B) T

(C) g

(D) TEgh

a5 2016 — 17 ¥ g gt 7% 8w, 9Y W
e IgA g A Wew o fhan U Rfifm
T g 2

(A) 2-6671d

(B) 2:259R/d

(C) 28691

(D) 1-94 @@
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11. Who conducts the elections in the District
Administration ?
{A) Development Administration Officer
(B) Cultural Officer
(C) Army Officer
(D) District Election Officer

12, Dr. P.V.K. Rao Committee is related to :
(A) Parliamentary Committees
(B) Planning Committees
(C) Election Committees
(D) Panchayati Raj Committees

13. In which Schedule of the
73t Constitutional Amendment, 1993
were the Gram Panchayats given more
responsibilities ?

(A ot
®) 10%
© 11
@ 7t

14. Out of the following, which census-decade
experienced the sharpest decline in sex
ratio of India ?

(A) 2001-2011
(B) 1991 -—2001
(C) 1981-1991
(D) 1961-1971

15. Out of the following, which waterfall is
not located on Narmada river ?

(A) Mandhar waterfall
(B) Bhalkund waterfail
(C) Dardi waterfall

(D) ZKapildhara waterfall

SF/M/1/2019 (RE) (5-

16.

17.

18.

19.

20.

B)

As per the Electricity Act, 2003, the
consumers, as per their purchasing power
are classified into how many categories ?
(A) Four

(B) Five

(C) Six

(D) Seven

Under the 12¥ Five Year Plan, the
contribution of private sector in the
development of electricity generation
capacity is aimed at :

(A) 41,110 MW

(B) 46,825 MW

(C) 50,757 MW

(D) 61,537 MW

As per budget estimates of Madhya
Pradesh of the year 2019 — 20, the fiscal
deficit was targeted at what percent of
GSDP (Gross State Domestic Product) at
current prices ?

(A) 334%

(B) 4-34%

(C) 534%

(D} 6:34%

Industrial Development Center Hingona
Khurd is situated in which district of
Madhya Pradesh ?

(A) Jabalpur

(B) Guna

(C) Morena

(1) Shivpuri

The employment generated by MSME
(Micro, Small & Medium Enterprises) in
Madhya Pradesh up to
December 2016 — 17 was :

{A) 2-66Iakh

(B) 2-25lakh

(C) 2-86lakh

(D) 194 lakh
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21.

22.

23.

24.
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gell-1 9 -1 =t gafea il w e fig
a1
e FEE wehet
J2a%h & JeT®
Gar & fore fram
EERE R CE R

T=i-11
ELES
EERGIS
I
e

(1)
(2)
(3)
(4)

@
(i)
(iif)

(iv)

(1)
(if)
(ii)
(iv)

(iii)

(2)
(iii)
(iv)
(1if)
()
T T ST 9ee 915S 99 § Th 1 HAE FHeit
veg| ! WISl § U9 waftd gs3t <6t =it weiia
wATE, B

(A) WeREY

(B) w4 g

(C) =g

(D) WIPR

3 I T ¥ e = & @ fhawr soam
fraramar g ?

(A) TEE<

(B) A

(C) wAvnTa.

(D) S,

(3
(iv)
(iii)
(@
(iv)

(4)
@)
()
(ii)

(D) (i)

= ¥ @ froe do ey SO A TR ?
(A) d=EREe

(B) =€ Wat

(C) Q=

(D) a9 WS

25. Tt g § wfgq SFRRl & IFTER

26.

27.

28,

(6-B)

Tk ¥ S HE aTet S9fn B el e R
(A) TR
(B) arE
(C) WA
(D) ufgex

TR qos S 71w | o 91 w5l Sites
™A ¥ T 919 FAitsa-difea) aream @ w3 |
IS U & :

(a) ¥3wm
(B) ifeat bR
(©) witm
(D) $-ig

sFidh el afifa =1 gemer fFe I
Afeag?

(A ge2
(B) @&
© @
(D)

Qe sfvear qu A, 2023 i wem @9 W
HAH-F9E HH-91 § ?

(A) Tt
(B) SeAg
(C) wRva
D) RN
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21. Match List-I with List-II and select the
correct answer using the code given
below :

List-I List-I1

(1) | Uniform (i) | Browser
Resource Locator

(2) { Network of (ii) | Web
Networks address

(3) | Rules of (1i1) | Internet
Communication

(4) | Display Web (iv} | Protocol
Page

Codes:
1 @ 3 4

A @@ G Gv @

B @) Gav)y D @

) Gv) Gi) @) (i1)

(D) Gi) @ Giv) Gp

22, A program that searches the World Wide
Web for one or more keywords and
displays a list of related pages is :

(A) Prototype

(B) Search Engine
(C) Webcam

(D} Programmer

23. Which of the following is used to build a
web page ?

(A) PowerPoint
(B) FTP

(Cy HTML

(D) ERP

24. Which of the following is not directly
related to the Internet ?
(A) Website
(B) Word Processor
(C) Web Page
(D) Web Browser

SF/MN/2019 (RE)

25.

26.

27.

28.

(7-B)

(A

A person stealing computer-stored
information in an vmauthorized manner is
called :

(A) Hacker
(B) Virus

(&)
(D)

Processor
Fditor

Communication technology through which
multiple people can be conpected from two
or more locations simultaneously through
audio-video medium is :

E-mail

(B)
(C)
(D)

Video conferencing
Animation

E-commerce

In which city is the headquarter of
International Olympics Committee
situated ?

A
(B)
©
(D)

Mumbai
Lausanne
Paris
London

Which is the venue of Slalom event in
Khelo India Youth Games, 2023 ?

(A) Gwalior

(B) Jabalpur
(C} Maheshwar
(D) Bhopal
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29.

30.

31.

32.

33.
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oA § WA i wiifa % aerg e
2

(a) Toeeft W=

(B) -itst =wsr

(C) =viw wgwad

(D) ®&. I

e % 6 U= O yum wle @ Rwafiaes
RY §T ?

(A) e Tem

®) =R

(C) T

(D) Ty

frg Raaret =t ad 2022 w1 wgE= @ o
T S JEHR T FAT ?

(A) G SR STATeTsH

(B) @I &

(C) wme wneft

(D) Wt HuRt

Tor Wom H Wt svean g@ A, 2023 w6
TN T o

(A) IsoH

(B) $7R

(C) W=

(D) v @t

G w dey fRE EE AR ?
(A) R

B) fwhe

(C) aredfEia

(D) guestd

(8-B)

34.

35'

36.

37.

I T W FW 10% W R T 3,300 F
Tlel | T H o ¥ T60 FI FR F A R -

(A) T 2,700
(B) T 2970
(C) ¥ 3,000
(D) ¥ 3,030

14 i $= = fasEt & @ 6 s@r 10 fex
2 | v it 39 Yy < =i feat Ehft
foraeht or1 15T 8 7

(A) 21
(B) 147,
(C) 157
(D) 254

TG 7x2 — 4xy + 8y2 + Bbx — 3y IR
5x2 — 4y + 6y — 3 =T 3L BN :

(A) 4x2—2xy + 12y% + 5x—9y + 3
(B) 2x%—4xy+ 12y%+5x—9y+3 -
(C) 2x2_4xy-—-12y? + 5x—9y +3
(D) 4x%-2xy—12y%-5x+9y-3

R ayg WA TPHIITRA
5 af At 3§ | A F o B o1y 44 99 R,
A a1 i o A ¢

(4) 393
(B) 1394
© 1294
(D) 8=
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29,

30.

31.

32.

33.
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Who is the current President of the Indian
Olympic Committee ?

(A) Mithali Raj

(B) Neeraj Chopra

(C) Xarnam Malleswari
(D) P.T.Usha

In which State of Imdia has the first
National Sports University been set up ?
(A) Madhya Pradesh

({B) Manipur

(C) Meghalaya

(D) Maharashtra

Who is the winner of the Arjuna Award in
Mallakhamb sports event for the year
20227

(A) Sagar Kailas Ovhalkar

(B) Lakshya Sen

(C) Manasi Joshi

(D) Sakshi Kumari

The venue of Khelo India Youth Games,
2023 was :

(A)
(B)
(C)
(D)

Ujjain

Indore

Mandla

All of the above

“Chinaman” is associated with which
game ?

(A)
(B)
(&)
(D)

Gymnastics
Cricket
Volleyball
Handball

34.

35.

36.

37.

(9-B)

Neha bought a cooler for < 3,300

including a tax of 10%. Then the price of
the cooler before tax is :

(A) T 2,700
(B) T 2,970
(C) T 3,000
(D) ¥ 3,030

An electric pole, 14 metres high, casts a
shadow of 10 metres. What will be the
height of a tree that casts a shadow of
15 metres under similar conditions ?

(A) 21m
(B) 14m
(C) 16m
(D) 25m

Difference between polynomials
7x% — dxy + 8y? + 5x — 3y and
5x%—4y2+ 6y —3is:

(A) 4x%-2xy+ 1252 +5x—9y+3
(B) 2x%—4xy+12y%+5x—9y +3
(C) 2x%—4xy—12y2 + 5x— 9y + 3
(D) 4x2—_2xy—12y2—5x+9y—3

Neha’s father’s age is 5 years more than
three times Neha’s age. Neha’s father is
44 years old, then Neha’s age will be :

(A)
(B)
©)
I

39 years
13 years
12 years

8 years
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38, feiifeq FFR 3, ABCD T T wgie

2, fm AC ok BD Rl § | AR
Z DBC = 55° @1 « BAC = 45° &, @
ZBCD S OR B :

D
A

B
(A) 65°
(B) 90°
(C) 80°
(D) 70°

39, Ffafee s #, @@ PQ 3k RS

40.
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wr g 0 W wieeg W= ¥ |
9ff /POR: ZROQ=5:7% @ L POS =
AW B ¢

S
Q
—

R
(A) 105°
(B) 75°
(C) 150°
(D) 210°
= ol #§ x 1 AE g
\eT8/ eI/ e[/
® s
() 12
(D) 27

(10-B)

41. 2011 <t FOOMAT % AR T WM H F

ST # St <6l SHEEEr gidwd 7 Rt
37

(A) 20-1%
B) 21-1%
(C) 21:7%
(D) 237%

. U dfem % el 164 % g

srggfea St % o ag e W= e
e vt § | B # ¥ fesw/fem usw/osat 4 @
ey foeme 3 7

(A) 7T Wew ua anfem

(B) whaw Ued Wl
(C) whaw snfem
(D) IFE A & HS T
. e oW % T auRisi/ecaal Wd ST AN
oy S % wFEl % T 9 gifa i ik
= o 1o e % | wdt s gt -
IS/TIR A
(1) | 498 §HIIg G) |35
(2) | WIS GURIE (ii) | ST
(3) | gHre g (iif) | ®X
(4) | ATEaT e (iv) | Fivs
E T

(1) @ & @
A) G GiD Gv) @
® Gi) Gv @ (i)
© v O () (i)
D) ® G G @G
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In the following figure, ABCD is a cyclic
quadrilateral in which AC and BD are its
diagonals. If ZDBC =55° and
Z BAC = 45°, then the value of ~ BCD
will be :

A

D

B
65°
90°
(C) 80°
Dy 70°
In the following figure, lines PQ and RS
intersect each other at point O. I

£ POR: ZROQ = 5 : 7, then the value of
ZPOSwill be :

(A)
(B)

S
P
R
(A) 105°
(B) 175°
(C) 150°
(D) 210°

In the following figure, the value of x will

(A) 1
(B) 8
C) 12

(D) 27

41,

42 L]

(11~B)

What is the percentage of tribal
population in the total population of
Madhya Pradesh as per Census 2011 ?

(A) 20-1%
B) 21-1%
€ 21'7%
D) 237%

As per Article 164 of the Constitution of
India, seperate Ministers are appointed
for welfare of Scheduled Tribes. Which of
the following State/States has this
system ?

(A) Madhya Pradesh and Odisha

(B) Madhya Pradesh only

(C) Odisha only

(D) None of the above

Match the following festivals of Madhya
Pradesh with the places where they are
held and select the correct answer from
the choices given below :

Festivals Places

(1) | Dhrupad Samaroh | (i) | Ujjain
(2) | Bhoj Samaroh (ii) | Bhopal
@ gda‘ff:‘::)‘fh (iii) | Dhar
(4) | Malwa Utsav (iv) | Bhind
Codes:

o @ & @
A G GiD) G @
(B) Gi) Gv) @) (ii)
) v @ () (G
M @ () GD  Gw)
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44, 47,
YT AR Al T R 2
(A) ghamn
(B) W
(C) 9T W=
, 48.
(D) g & & B &
45. Fefafag § ¥ fra fReeg & Senfd 1 9m
T o 391 78 % 9w & gafem 757 @ 7
' 49.
e JT TR
(A) = Higet
(B) quer TfaenT
(C) wga ok
(D) = g 50.
46, FEEE AWGHR UNE I WEEAT WA
Hfum i frfafaa § @ fem gt HR 2
gigdt
*) M 51.
(B) &4l sg=t
(©) wwE ST
(D) redt g
SF/MN/2019 (RE) (12-B)

it e fa (Hoersth.) gem: @
(A) =g
® @\
© £A
(D) WA

FaH v R :
(A) wifem
(B) T

© =&

(D) =

= 3 @ -0 3w ¥ waiftes Se-fafawa g 2
(A) &4

(B) ¥rR4

(C) st

(D) 3o ke

et 3 7 (S e it ) siffm
el E’FL@BH ?

(A) 1984

(B) 1972

(C) 1978

(D) 1981

Tl s fhes g At ] 2
(A) SR

(B) i

(C) fawry

(D) =hd%
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44, Which

implemented the
Sub-Plan ?

of the following States has
concept of Tribal

(A) Haryana

(B} Punjab

(C) Madhya Pradesh

(D) None of the above

45. Which of the following Youth home/house

i8 not appropriately matched with the
name of the tribe where it prevails ?

Tribe Youth home

(A) Madiya Ghotul

(B) Munda Gatiora

(C) Bhuiya Rang-Bhang

(D) Uraocn Dhumkoria

46. Which of the following Schedules of the
Constitution of India makes the provision

of Tribes Advisory Councils ?
(A) Fifth Schedule
(B) Sixth Schedule
(C) Seventh Schedule

(D) Eighth Schedule

SF/M/1/2019 (RE)

47.

49.

50.

51.

(13-B)

Compressed Natural Gas (CNG) mainly
is:

(A)
(B)
©
D)

Butane
Methane
Ethane
Propane

The hardest substance is :
(A) Platinum

(B) Diamond

(C} Silver

(D) Gold

Which of the following country has the
richest biodiversity ?

(A)
(B)
()
(D)

Russia
India

Brazil

South Africa

In India, Air (Prevention and Control of
Pollution) Act came into force in :

(A) 1984
(B) 1972
(C) 1978
(D) 1981

Malaria disease is caused by :
(A) Protozoa
(B) Bacteria
(C)
42))

Virus
Fungus
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52.

53.

54.

55.
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o e 3 g g B 2
(A) TTERISH TS
B) i ia (Iw)
(C) TR
D) s

wad e e w9 ¥ fnaend swr F g
et § ?

(A) TTEgH ATEEE

B) M=

(C) FERITISIT e (E.0w.4l.)

(D) =TEA SRATFES

WY TEIEe SR B AEIHEE
ferFad (SIGAR) FrE Tg @ Hafa To-dt
27

(A) TE.L
(B) W&
(C) &
(D)

HIATOA i wEEaE B @ el fetafas
T fraoade?

(A) g w4y
(B) WRER Hfd

() =g =fa
(D) =i = Tuuex

(14-B)

56.

57.

68.

59.

60.

TE ¥ o W e Frafafae 4 9 Ry
w1 % e 4 7

(A) 9EEA
(B) ST
© feg
(D) TS

frfifga 7 4 v et i e St wpf
I % foag < W R ?

(A) ITHF
(B) mesTel
(© < R
(D) Wik

frifea ¥ ¥ Fre ®W B! Thg ST % WA
TR g s A Rk @ g ?
(A) 9oL

(B) Tt

(©) Mia<Tg

(D) wide

afrg o saed % oW famife § |
fr W W wAwiEl g WA SN
(alta=fes) TEHR < T TohaT T o1 ?

(A) <hicwERRT

(B) Toema

(C) YEmat

(D) Tegaa=ag®

Rt e & N 1401 1, F wieE ¥ WA
T Y g i & form e X el o 7
(A) e e

(B) Foerer @i

(C) HEHIG WTE
(D) o faast
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53.

54.

55.
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The gas used in electric bulb is :
(A) Nitrogen oxide

(B) Inertgas (Argon)

(C) Hydrogen

(D) Oxygen

Which gas is mostly responsible for global
warming ?

(A) Nitrous oxide

(B) Methane

(C) Chloroflurocarbon (CFC)

(D} Carbon dioxide

Special Inspector General for Afghanistan
Reconstruction (SIGAR) is arif@gency of
which nation ?

(A) USA

(B) India

(C) Pakistan
(D) Russia

The earliest method of time-reckoning is
mentioned in which of the following
book ?

(A) Vedang Jyotish
(B) Parashar Smriti
(C) Manu Smriti

(D) Kautilya’s Arthashastra

56-

b7.

58.

69.

60.

(15-B)

Baba Haridas, the teacher of Tansen, was
the native of which of the following place ?

(A) Vrindavan
(B) Agra

(C) Delhi

(D) Mewar

The painting during the period of which of
the following is known for the love of
nature ?

(A) Akbar

(B) Shah Jahan
(C) Dara Shikoch
(D) Jahangir

Which of the following place is being
developed as the first breeding centre for
white tigers ?

(A) Palamu

(B) Rajaji

(C) Govindgarh
(D) Corbett

During the Civil Disobedience Movement,
at which of the following places was a
provisional independent Government
established by the revolutionaries ?

(A) Kolkata

(B} Chittagong

(C) Peshawar

(D) Thiruvananthapuram

During the period of Delhi Sultanate, who
among the following rulers founded an
independent kingdom in Malwa in
1401 AD.?

(A) Hoshang Shah
(B) Dilawar Khan

(C) Muhammad Shah
(D) Mahmud Khilji
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62.

63.

65.

66.
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Frafaftan & @ gy’ 1 wafaar= & :
(A) 99
(B) gar
©) R
D) &

Frefafen 3 & 1g wsg oife
(A) TGS

(B) areaifoneh

©) o=

(D) eI

Pefafye § & 9@ wsg it :
(A) sifey

B) =

(C) <™

(D) =

o1 il gfee § g FRa TR F B E 7
A) @
(B) =
(C) @
(D) R

‘st = e g
(A) &=
(B) WA

(© nygFe
(D) Wufies

TG T AW IETH H1 WG <l AN R
(A) T ACTH @G 6! Al

(B) e i A 4l Ara

(C) o I wgwh wHt 7El o

(D) € foreft o=t g 1 o5 T = awq

67.

68.

69.

70 L]

71.

72,

(16-B)

‘Cashier R & A warwmar @ :
(A) Tehfean

(B) %=/l

() ara fafes

(D) Uk

dequr’ T 319 |
(A) W= e
(B) ¢ for@m

(C) Tomr ® for@
(D) BT &

“Arerdiaraay frasht Hia 8 72
(A) =g
(B) wgalt

(C) wayfa
(D) WA ]

g e fora o1 7
(A) SFE
(B) widea
(C) feremufa

(D) =vvEe

frfefan # A TguER M@ R -
(A) ey Tiuig
(B) wFifgg

() We foem
(D) 3w wifg

‘Trifer & i ®H § ?
(A) I=H Hua

(B) wfaam

(C) W

(D) 9gHEt
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Ffi-ll TH-UF T sl i T T ST S o |
R § Yo TUROR | S5 wE Td e X
TFE ¥ PR-Ane $ ang 96 9 R @ |
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78. IUYH TN 6 Sfuq ides T @ wwar B 2
(A) TEIEHE R 9RA
(B) Hgurehell
(C) Mhawrelt g
(D) foemgaeht sra

74. TR T & GUE % WHE T e & ?
(A TEERE
B frr
(C) TAH-JIT
(D) wgone™

75. JEIHIEE S-S a8 BT &
(A) orfia Ma %1

(B) \w=aT % gfEm =

(©) wqig=

(D) Term 1
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76.

71.

78.

79.

80.

(17-B)

qifgea <l I~ Bl o HgvaQl qre w1 § 7
(A) T

{B) Tad

(C) Termem

(D) y==rRE

Frerfafas & @ oA dr e
(A) DR :

(B) rerelt

(C) Jw=wt

(D) g

‘W o o frae fir 1€ 9w o SRar s
g ?

(A) "=

(B) 3MIEH

(C) =

(D) e

‘e Twad a2
(A) T

(B) 3w

(C) mig

(D) g

S WG] W diget HH day R@m Wt
QB

(A) wI¥

(B) 3wt

(C) s

(D) IR ve
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81. Find the correct transformation of the

following simple sentences into a complex
sentence :

Jim heard a noise.

He phoned the police.

(A) Jim heard a noise and phoned the
police.

(B) Jim phoned the police after noise.

(C) Jim heard no noise and he also
phoned the police.

(D) Jim heard a noise, phoned the police.

82, Fill in the blank with a suitable
. preposition given after the sentence :

You can buy stamps the post

office.

(A) on

(B) at

(C) upon

(D) to

83. Fill in the correct conjunction in the
sentence given below :
God made the couniry man
made the town.
(A) and
B) or
(C) wunder
(D) over

Choose the correct word to complete the
sentence :

A fleet of ships
canal every day.
(A) pass

(B)
(C)
(D)

through this

passing
crossing
passes

SF/MIN/2018 (RE)

85.

86.

87.

88.

(18-B)

Choose the correct word to fill in the
blank in the sentence given :

If he had run fast, he
the race.

(A)
(B)
(®)
(D)

have won

must
would
had

was

Fill in the blank from the options given :

We see the sun brightly in the

morning,.
(A)
(B) shining

(C) have shone
(D) have shown

setting

Find the odd set of words :
(A)
B)
(®)
(D)

Big, Bigger, Biggest
Thin, Thinner, Thinnest
Great, Greater, Greatest

Please, Pleasing, Pleasing

Supply the correct article in the following
sentence :

pen is mightier than the sword.
(A) The
(B) A
(C) An
(D) None of the above
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Read the passage carefully and answer the

90.
questions (89 — 93) given below :

The journey two naval officers made
some time ago to the very deepest
point on the Earth makes us realize
how much of the world still remains to
be explored. The two men went down 91.
seven miles to the bottom of the
Pacific Ocean inside a small steel ball
called a ‘bathyscaphe’ to find out if
there are any ocean currents or signs
of life. Above the ball there was a
special tank full of petrol which was
slowly emptied into the water to make
the bathyscaphe heavy enough to

92,
complete its journey.

89. The jowrney by the two naval officers

makes us realize :

(A) how difficult their journey is.

(B) how courageous these naval officers 93.

are.

(C) how to draw a map of the ocean.

(D) much of the world remains to be

explored.

SF/M/1/2018 (RE) (19-B)

‘Bathyscaphe;’ is the name of :
(A) A small steel ball

(B) A mothership

(C) A small boat

(D) Araft

Why did the two officers wish to go under
the Pacific Ocean ?

(A) To dig out dead sea creatures
(B) To find out life at the bottom of the

sea
(C) To measure the depth of the sea

(D) 'To hunt sea creatures

Why was petrol slowly emptied into the

water ?

(A) To provide fuel to the ball

(B) To save the ball from fire

(C) 'To make the bathyscaphe heavy
(D) To hold the ball at one place

What was the purpose of the journey
undertaken by the two naval officers 7

- {A) Adventure for fun

(B) Aqua-sports
(C) Pleasure trip
(D) Exploration
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94.

95.

96.

97.
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Identify the part of speech of the
underlined word in the following
gentence :

Have you ever seen a water bird ?
(A) Adjective

(B) Noun

(C) Verb

(D) Adverb

Select the correct part of speech of the
underlined word in the sentence given
below :

Our needs are few.

(A) Verb
(B)
(C)
(D)

Conjunction
Noun

Interjection

Select the correct antonym of the word
BLATANT from among the words given
below :

(A)
(B)
(&)
D)

Decency
Quiet
Loud
Darken

Select the correct synonym of the word
HEGEMONY from among the words given
below :

(A)
(B)
(©)
(D)

Supremacy
Stupidity
Sentimentality
Complexity

98.

99.

(20-B)

100.

The following is a sentence in Active
Voice :

Who taught you English ?

Select the correct Passive Voice of the
sentence from the options given below :

(A) English, who taught you ?
(B) Who taught English to you ?
(C) By who you were taught English ?

(D) By whom were you taught English ?

Which option is the correct Active Voice of
the sentence given below ?

Promises should be kept.
(A)
(B)
©

Promises are to be kept.
One should keep one’s promises.

One’s promises should be kept by

one.

(D) Promises can not be kept.

Choose the correct form of Indirect Speech
of the sentence :

Samir said to us, “You have done this
work well.”

(A)
B
©)

Samir has done this work well.
You worked well, told Samir.

Samir told us that we had done that
work well.

(D) That work is done, Samir told.
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